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	���������

�� �	
�� 
����� ��
���� �������� ������� (X,A)� �	 A � σ����	��� 
����� ��
X � ��  !��" �������� ��
��#��$�!�# �	�������� ���������� ���%���!%�� ��� 	� 

�	�	
����& ����������& P (t, x, A)� �	 t ' (��� x ∈ X, A ∈ A� )�
��#��&(� %�*�"
���$%����&  !��� ��� 	�" #% 	���& �& ��"%���# (�����%�� P (t, x, A) ���	���	�"$�!�
�# #% ����������! ����� +� (�����%�� #%� ��(��� ��"%���# 
 ��(%� x ∈ X 
� (�� t
�������#$ � ���*��" A ∈ A� ,���"�%�$�!�#� +� (�� ���%�	����� ���������! *���#
(�����%� ������&$ 1� � � %�� � ����� *���# (�����%� ����$�� �����*"$ �	#%" ���
���%��" %��!%���! ����
 (������%� ��(��%��� ����*	��# #%�
 ��
�����	�� �����%���
�� �������� X � ���!%���! � ����*	��#  �
 (������% 
��	*��! ���!%� ��� ����*	��#
(�����%����	�%� � ���	�� �	�	����	��#� ���� %�*�� ���� (�����%� �	
��	*�� ���
��-�
 (������% 	���& ���"$ �������(���

�	
�� µxt(A) �����%��� ����� #%� ��# %�*���� A ∈ A ������&$ %��!%���� (�����
��% " ���	�� (��" t� ���� #%�
 �������#&�! � ���*��" A 
� "����� +� � ��(��%��
��� ���	�� �"�� ���!%� ���� (�����%� � ��( � x ∈ X � µt(A) � �����%��� ����� #%�
������&$ %��!%���� (������% " ���	�� (��" t� ���� #%�
 ���	*��! ���*��� A�

������ ���*�$��� +� ������� X �%����$�!�# 
� 
��(	���. %��!%���� 	�	�	����
x1, . . . , xn, . . . , ����� ����"�%�$�!�#� +� ���*��� ����� (������% {T1, . . . , Tn, . . .} 
���
(	����

�© ������ ���	�
�� 
������	��
 ����
� ����� �	�
�� ����



#%& ������� ��	
��
 ����� �����������
 ����� �����

�� �������� ���� µxt(A) ������!�# ������������� ���� µxt(A)

µxt(A) =


∞∑

i=0

ni∑
j=1

µxijt(xm), #%+� xm ∈ A

0, � ��-��" �����%"


∞

m=0

,

�	 x = {x11, . . . , x1n1 , x21, . . . , x2n2 , . . . }� xij ∈ X ' j�� 	�	�	�� i��� ���"�
,�
��(��� N0 = {0, 1, 2, . . .}� � ���������� N∞

0 �	�%��(	��� �������� ��������
	�	�	����� #%��� $ xi ∈ N0�

/�&(� P (t, x, A), ��	�	�� P̂ (t,x,y), (x,y ∈ N∞
0 )� �	 P̂ ' ����������! ����� +�

#%+� � ��(��%���� ���	�� $ �	%��� x� �� 
� (�� t �����"$�� �	%��� y� �	�"&(��!

����	���� ��
��(	��#��� ��*�� 
������� ���������-	��#

P̂ (t,x,y) = P{µxt(X) = y}.

0�	�	�� E(i) = (δi1, . . . , δin, . . .), �	 δij ' ������ ����	%	��� δxy =
∏∞

i=1 δxiyi �
E(i)�(�����%� i��� ���"� 0��*�$��� +� ab = ab1

1 ab2
2 · · · abn

n · · · , a! = a1!a2! · · ·an! · · · �
a = a1 + · · · + an + · · · , a

[bi]
i = ai(ai − 1) · · · (ai − bi + 1)�

�������� �� -./01�2/�3

F (s(·)) = F (s) = E exp
{∫

ln s(x)µ(dx)
}

/�4�5������2 �5��/�� 6./01�2/�32� 5���702528 ���� µ9 7� s(x) : 5����/� 2;��

<�/� 6./01���

1������ �"�% ����� F (s) ��
��(	��� 
��*��� %��� 0 < |s(x)| � 1 �� ���	����∫
ln s(x) µ(dx) ���"$�
��# ���"�������� ��� 	�" ������� �"�% ����� $ ��%��2

h(t, s(·)) = E exp
{∫

X

ln s(z)µt(dz)
}

.

������ ��%�������"�����	�� ���!%� s(·) = const = s = (s1, s2, . . .)� 3	�%� �	�	���
����� +� ��	�	��� ������� �"�% ����� $ ������� " ���" �	���� #%�� ��� $ " �����%"
�%��(	���. %��!%���� ����� 4����  	 �	 �"�% ������ � �"�% �#5�

0�	�	��

hi(t, s) = hE(i)(t, s),

hβ(t, s) =
(
(hE(1)(t, s))β1 , (hE(2)(t, s))β2 , . . .

)
,

h(t, s) =
(
hE(1)(t, s), hE(2)(t, s), . . .

)
.

3	�%� �	�	%������# 678� +� ��	�	��� ������� �"�% ����� 
������!�#$ ������	
�"�% �����!�	 ����#��# 4∀ t, τ = 0, 1, 2, . . .5

h(t + τ, s) = h(t, h(τ, s)).



'()*�+,+)-.' �,/0 1.2' S�34�).0.)5 6177�(+)5 �8,90(1/ #%#

9���%�"$�� �%��(	��" ������*��" S ⊂ N∞
0 , 0 /∈ S� =.��/�/��� ��� S
4.��/�/��

����#���� ��� 	��� ��
���$�!�# ��� 	� ξxt(X)� ��
��(	��� ��# t = 1, 2, . . . ��
x ∈ N∞

0 �������#��

ξxt(X) =
{

µxt(X), #%+� ∀v, 0 � v < t, µxv(X) /∈ S
µxu(X), #%+� ∀v, 0 � v < u, µxv(X) /∈ S, µxu(X) ∈ S, u < t.

:�*	� ��# S�
"���	���� ����#����� ��� 	�" ξxt(X)� ��(%� ���*��� S $ ������
%����� ������� ���������# ������#�� 
 ��(��%���� ��� 	��� µxt(X)� #%�� ���
���!%� ���" ��(%" ���������# ;� 1��" �� ������" ��� ��� 	�" µxt(X) � S�
"���	���"
����#����" ��� 	�� ξxt(X) �%�	�� (�����%� � t��" ��%������ �	
��	*�� ��
����
*"&�!�# 
� ������������ 
�%����� #%�� ��
��(�$�!�# ������& �"�% �$& h(·)� ���!%�
� ���" �����%"� %��� ξxt(X) /∈ S� <% ���!%� �����%���� �	%��� ξxt(X) ��������! "
���*��" S� 	���& �# ��� 	�" ������#$�!�#�

:�%��!%� ��� 	� µxt(X) $ ��� &��� /��%���� ��

P̂ (t1 + t2, α, β) =
∑

γ∈N∞
0

P̂ (t1, α, γ)P̂ (t2, γ, β).

���� ����� ��
��#�	�� ����������� P̃ (t, α, r)� #%� ��
��(�&�!�# ��%2

P̃ (t, α, r) =

{
P̂ (1, α, r), t = 1;∑

β /∈S P̂ (1, α, β)P̃ (t − 1, β, r), t � 2.
4�5

3	�%� ��(���� +� P̃ (l, α, r) '  	 "����� ����������! ����.

{
µαl(X) = r

}⋂(
l−1⋂
l′=1

{
µαl′(X) /∈ S

})
.

,�
��(���
qn
r (t) = P

{
ξnt(X) = r

}
' ����������! �����*	��# � ���� r ∈ S �� ���	��" (��" t S�
"���	���� ����#�����
��� 	�" ξxt(X)� +� ��(���$�!�# 
� ����" n ∈ N∞

0 �
!� ������" #�$���

%����&� �� >3� 725�3?/�� n /∈ S, n �= 0, r ∈ S, t � 1 @���57<.A�?@� ��5/�@�?

qn
r (t) =

∑
α∈S

t∑
l=1

cαr(t, l)P̂ (l,n, α), 4�5

7� 02�6�1�A/�� cαr(t, l) 4/��27��? �4 @��55�7/2B�/?

cαr(t + 1, l + 1) = cαr(t, l), 475

cαr(t + 1, 1) = δαr −
t−1∑
l=1

P̃ (l, α, r), 4=5

cαr(1, 1) = δαr. 4�5



#%% ������� ��	
��
 ����� �����������
 ����� �����

���������� 0�	�	��
τ = min {t :µnt(X) ∈ S}

���	�� �	�-��� ��������# � S� 1��� ��� t � l

P{ξnt(X) = r, τ = l} = P{ξnl(X) = r} = P̃ (l,n, r).

9�������"&(� �� P̃ (l,n, r), l � 2� ����"�" 4�5� ��	�*"$��

P̃ (l,n, r) =
∑
α/∈S

P̂ (1,n, α)P̃ (l − 1, α, r) =

=
∑
α/∈S

P̂ (2,n, α)P̃ (l − 2, α, r) −
∑
α∈S

P̂ (1,n, α)P̃ (l − 1, α, r).

>������(�� �	�	����&$�!�# �	�-� �"�� � ������ (������  �$. ����"��∑
α/∈S

P̂ (2,n, α)P̃ (l−2, α, r) =
∑
α/∈S

P̂ (3,n, α)P̃ (l−3, α, r)−
∑
α∈S

P̂ (2,n, α)P̃ (l−2, α, r).

)���#(� ��%� ���� �	�	����	��# � �"��

∑

α/∈S P̂ (i,n, α)P̃ (l − i, α, r)� �����"$��

P̃ (l,n, r) = P̂ (l,n, r) −
∑
α∈S

l−1∑
i=1

P̂ (l − i,n, α)P̃ (i, α, r), 4?5

l = 2, . . . , t, P̃ (l,n, r) = P̂ (1,n, r). 4@5

:�%��!%� qn
r (t) =

∑t
l=1 P̃ (l,n, r)� �� 
 ����"� 4?5� 4@5 �������&�! �����-	��# 475�

4=5� 4�5� 1	��	�� ���	�	���

���� ��
��#�����	�� ��� 	� �������(�� #% � 6�8� �	
��

A1(x, D) = E{ξx1(D)}

�	�-�� ��%������!��� ���	��� �	 ξx1(D) ' ��%� �����%��� ����� #%� ��# %�*���
�� D ∈ A ������&$ %��!%���� (������% " ���	�� (��" 1� ���� #%�
 $ � ���*���
D� #%+� � ��(��%���� ���	�� (��" �"�� ���!%� ���� (�����%� ���" x ∈ X � 
�
"���� S�
"���	���� ��� 	�"� ����� ξx1(D) =

∑∞
i=1 ξxi1(D)� :�%��!%� E ������	� ��

A1(x, D) = E{ξx1(D)} =
∑∞

i=1 A1(xi, D)� 0���� 
�
��(���� +� D ��*	 �"�� �	%���
��� � ���*���&�

�������� !� ����C A1(x, D) = A(x, D) ��

An+1(x, D) =
∫

X

An(y, D) dA(x, y) =
∫

X

A(y, D) dAn(x, y).

�5�<�A�?@�9 D2 A0(x, D) = 19 �0D2 x ∈ D9 � A0(x, D) = 0 5 ��2��3�</2�. 5���7

0.�



'()*�+,+)-.' �,/0 1.2' S�34�).0.)5 6177�(+)5 �8,90(1/ #%:

0 6=8 ���	�	��� +� ��	�� �. ��	������ A 
����&�!�# 
 �	�-��� ���	����� ξ� #%+�
��
��(��� A(t) ' ����� & ��������� ��	������� �	 .. 	�	�	��� Aij(t) = At(xi, xj)� ��
�"�	 ��%��"�����! A(t) = At� �	 A = A(1)�

�	
��
Bt(x, D1, D2) = E{ξxt(D1) · ξxt(D2) − ξxt(D1 ∩ D2)}

��"��� ��%������!��� ���	���
9� A	����!#����� 678 ��� ���� (������% ��
����&�!�# �� %�����

�������� '� ���2403�7/�C E�33�@��C ��21�@ 4 7�@0���/�� F�@2� /�4�5�A�?@�
����27�F/�� 4 ����272� d9 �0D2 /�C;�3?B�C 7�3?/�0 73� 5@�� ��� t9 73� �0��
〈At(xi, xi)〉 > 09 72��5/GA d� H0D2 d = 19 �2 ��21�@ /�4�5�A�?@� /�����27�F/���

�������� (� I�33�@��C ��21�@9 5 �02�. 5@� ���� .�52�GG�? 27�/ 03�@ �05�5�

3�/�/�� ����59 /�4�5�A�?@� /��2403�7/��� �@� �/B� ��21�@� �2403�7/�� I�33�@��C
��21�@ : 1�302� �2403�7/�C9 �0D2 �/2<�/. ����5 �2</� �24;��� /� 75� /��2

�2</� 4��0/�/� ��7�/2<�/��

�������� )� ���2403�7/�C E�33�@��C ��21�@ 4 7�@0���/�� F�@2� /�4�5�A�?@�
��%����(���9 �0D2 02��/? J���2/� δ �����1� A ��/B�C9 /�< 27�/�1�9 ���%���
��(���9 �0D2 δ > 1 � %����(���9 �0D2 δ = 1 � f(xi)Bi

jkν(xj)ν(xk) > 09 7� Bi
jk :

�����1� 2�����2�� B9 � f � ν 5�7�25�7/2 ���5�C � 3�5�C 53�@/� 5�0�2��9 D2 5�7�2

5�7�G�? 02��/G ����2/� δ�

*&��� �� H7�2 Eξxt(S) /��2403�7/�9 /�����27�F/� � 720����F/��

9����� 
 "����& � ��	�����A� +� ��
��(�$�!�# #���� E{ξxt(D)} � �������� �������

�"�% �� � � �������� ��� ��$ �����" �"�% �& f(·) � ���������" ���" ν(·)� ��%�� +�∫

X

f(y)At(x, dy) = f(x) =
∞∑

i=1

f(yi)At(x, yi),∫
X

At(x, Y )ν(dx) = ν(Y ) =
∞∑

i=1

At(xi, Y )ν(xi).

���� ���*����	��� +� 0 < x1 < f(x) < x2 < ∞� ν(X) < ∞ ��∫
X

f(y)ν(dy) = 1 =
∞∑

i=1

f(yi)ν(yi). 4B5

:�	������ �����*	��� ��
��(	��� #���� " �������� ���	*	��
 �"�% �� ��$ ��	%��
���!��� ����"� �	�-�� ����� ��

*&��� !� ∀i, j = 1, 2, . . . E{µE(j)1(xi) log µE(j)1(xi)} : @0�/F�//��

*&��� '� �@/.A �2403�7 At(x,y) =
∑

k f(xk)δt
kν(yk)�

:�%��!%� � �	��
%�����
� �	�	�����(��
� ��%����(��
 ��� 	��
 
 ���%�	���� (��
��� ��� ������ 
��(	��# 
� ���"�	� �	�-� ����� �� �� �� �������� "���� 7 ��*��
�%�
���� +� ��� t → ∞

At(xi, yj) = f(xi)δtν(yj) + o(δt
1),



#%; ������� ��	
��
 ����� �����������
 ����� �����

�	 δ ' ������!-	 �����	 
��(	��#� :�*	�

lim
t→∞At(xi, yj)δ−t = f(xi)ν(yj). 4�5

0�	�	�� ��
��(	��#

Ri(t, s) = 1 − hi(t, s),
R(t, s) = (R1(t, s), . . . , Rn(t, s), . . .),
R(t, 0) = Q(t) = (Q1(t), . . . , Qn(t), . . .) = lim

s→0
R(t, s).

1�% #% � " �����%" 
 ����� (����� ������ �	�%� �����#�!�# �	�������� 678

0 � Ri(t, s) � Qi(t) ��� 0 < |s| � 1, 4�;5

|Ri(t, s)| � 2Qi(t) ��� 0 < |s| � 1. 4��5

9 �	�������� 4��5 �������$� +� � ����#���
 ��� 	��
� #%� �����*"&�!�# Ri(t, s) → 0
���������� �� 0 < |s| � 1� ��%���	�� ��%� "���� �� ��� 	��

*&��� (� At > 0 ��� 7��0�� t > 0 5 @�/@� ∀i, j aij > 0 �� hi(t, s) �= Aij(t).

1"� � ������ 
���� A > 0� �	 A = {aij}� �
��(�$� +� ∀i, j aij > 0� � 
���� A > B�
�	 A = {aij}, B = {bij} ' ����� �� �
��(�$� +� ∀i, j aij > bij .

,�
��(��� h(s) = h(1, s)�

*&��� )� =� 55�7�/�� .�25 73� 1?2E2 ��21�@. 5�02/.A�?@�

1 − h(s) = [A − E(s)](1 − s), 4��5

7� �����1� E(s) ��� 0 < |s| � |s′| � 1 4�72523?/�A .�25� 0 < E(s′) � E(s) � A �
lims→1 E(s) = 0�

%����&� !� =� .�25 K
L

lim
t→∞

Ri(t, s)
f(xk)Rk(t, s)

= ν(xi)

��5/2���/2 4� 5@��� s �= 1 � 0 < |s| � 1�

C& �	��	�" �������� �������(�� �� �	��	�� � �� ����� ��� " 678� 
����&&(� ������ �
����� ������ �	%���� ������& �"�% �$& �� �����������& ����& ����������� /���� �
$ 
 %���" ����� ! �	�%��(	��� ��������� ��������� ��	�������

%����&� '� =� .�25 !
L ∀i, j = 1, 2, . . . �� ��� l → ∞

1 − P̂ (l, E(j), 0) = K(Sj)δl(1 + o(1))9 7� K(Sj) > 0; 4�75

�M �@/.A E��/�1� .�25/�� C�25��/2@��C

lim
t→∞P{µnt(X) = k|n �= 0} = p∗k, 4�=5
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� �5��/� 6./01�� h∗(s) =
∑

k∈N∞
0

p∗ksk /� 4�3�<��? 5�7 n � 4�72523?/�A @��55�7/2

B�//�

1 − h∗(h(·)) = δ(1 − h∗(s)), 4��5

h∗(0, . . . , 0, . . .) = 0 , h∗(1, . . . , 1, . . .) = 1;

;M �24�27�3 p∗k ��A 727��/� ��������F/� @�27�5�//�

h∗
j (1) = lim

s→1
h∗

j (s) =
∑

k∈N∞
0

kjp
∗
k,

7� h∗
j (s) = ∂h∗(s)

∂sj
.

�������!�# �������(�� �� �	��	�� 7 �� ����� ��B " 678� 
 ��%��������#� �	��	�� �
��# 
����*	��# ����� � ������. �"�% �. ��# "������� ��
�����"�

��%���	�� +	 ���" "���"�

*&��� +� ����C hij(s) = ∂hi(s)
∂sj

9 �27� 73� ;.7?
�02E2 j, 1 � j < ∞ �@/.A ��0�

i, 1 � i < ∞9 D2 hij(0) 727��/��

�� �������� ��������

hij(0) = P̂ (0, E(i), E(j)) = P{µE(i)1(X) = E(j)}

 	 �
��(�$� +� ���������� ����������� P̂ (0, E(i), E(j)) ��������
���� ��� �"�	 �������� +	 ���� �	���

��&� �� =� .�25 !
 E��/�1� .�25/�� C�25��/2@��C

lim
t→∞ P{µnt(X) = E(i)|n �= 0} = p∗E(i) > 0,

��� 5@�� i = 1, 2, . . .

���������� 1����� �"�% �# h∗(s) =
∑

k p∗ksk � �	��	�� 7 
������!�#$ ����#��# 4��5�
<%+� �  !��" ����#��� 
������� s �� h(s)� � ����� ���������  & 
����" t ��
���
������$�� �������!

1 − h∗(h(t, s)) = δt(1 − h∗(s)), 4�?5

�	 h(t, s) � t��� ��	�� �# �"�% �. 
����� 
 �������� ���	�	� ���!��� ����#��#��
���	�	� �&&(� �������! 4�?5 �� sj � ��( � s = 0, ������$��

∞∑
i=1

h∗
i (h(t, 0))hij(t, 0) = δth∗

j (0) = δtp∗e(j). 4�@5

,�� t → ∞ ��� %��������� h(t, 0) ��#�"&�! �� 1� ���" �� �������� �	��	�� 7 
����
�"�!�# ��%� T � C1� +� ��� t > T ��� h∗

i (h(t, 0)) � C1 > 0� 9 "���� ? �������$� +� ��#
∀ 1 � j � ∞ ��*�� 
����� ��%	 i� +� hij(t, 0) > 0� ��%��!%� ��# �"�!�#%�

i1, i2, . . . , it+1

hi1it+1(t, 0) �
t∏

l=1

hi1hil+1(0).



#%= ������� ��	
��
 ����� �����������
 ����� �����

1��" 
 4�@5 �������$� +� ��# ∀1 � j � ∞

δtp∗e(j) � C1

t∑
i=1

hij(t, 0) > 0,

+� � ��	�� �"�� ���	����

%����&� (� J�� 5�02/�//� .�25� ! E��/�F/� C�25��/2@�� 5��27<�//�
qn
r = lim

t→∞ qn
r (t)9 ∀n /∈ S, r ∈ S �2</� �27��� . 5�E3�7� ��7.

qn
r =

∞∑
l=1

∑
α∈S

cαrP̂ (l, n, α), 4�B5

7� cαr = lim
t→∞ cαr(t, l) = δαr −

∑∞
u=1 P̃ (u, αr).

���������� D���������� qn
r (t) 
�����&�! 
 ������ t � ���	*"&�!�# 
�	�
" 1� 1��"

���"&�! ����� � qr
n = lim

t→∞ qr
n(t)�

� ����"�� 4�5 
���� � ������ ��*�� �	�	��� �� ����� � ��� t → ∞� ��%��!%�

� �"�!�#%�
 α, r ∈ S ��%��"$�!�# �	�������! P̃ (l, α, r) � P̂ (l, α, r), � 
 �	��������
E	��-��� � "���� 7 �������$

P̂ (l, α, r) � P


∞∑

j=1

µαl(E(j)) � 1

 �
∞∑

j=1

E {µαl(E(j))} =

=
∞∑

i=1

αi

∞∑
j=1

dijδ
l(1 + o(1)),

���" �#��
∑

l P̃ (l, α, r) �
∑

l P̂ (l, α, r) �
��#�!�#� 9����� �������$ 4�B5�

)�
��#�	�� ���������(�" ���	���%" qn
r ��� n → ∞�

���� ����"�%����	��� +� ��%��"&�!�# "���� 4��5�4��5�47�5�

%����&� )� ����C 5�02/.G�?@� .�25� !9 �9 K � limn→∞(ni/n) = ai9 7�
a = (a1, a2, . . .)� � 1?2�. 5���70. ��� n → ∞ 73� ;.7?
�02E2 r ∈ S

qn
r − H(logδ n) → 0, 4��5

7� H(x) : ����27�F/� 6./01�� 4 ����272� 19 �0� 5�4/�F�A�?@� ��5/2@����

H(x) =
r0∑

j=1

cjHj(x),

Hj(x) =
∞∑

L=−∞
δj(L+x)e−(a,K)δL+x

,

7� 02/@��/�� cj = cj(r,a, p∗) 4�3�<��? 5�7 r9 a � E��/�F/2E2 �24�27�3. p∗ = {p∗k}
5�4/�F�/2E2 5 3��� !9 (a, K) =

∑∞
i=1 aiKi9 Ki : 5 N!KM9 r0 = max{r = r1 + r2 + . . . :

r ∈ S}�
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���������� �	
�� θ(l) = (θ1(l), θ2(l), . . .) �����%���� �	%���� %�����	��� #%��� θi(l)
������&&�! (���" (������% i��� ���"� +� ���� ��������� � ��� 	�� �� ��%�����# l�
1��" ��*�� 
�������� +� ��# �"�!�#%�
 α ∈ S, l � 1 � n /∈ S ��$��

P̂ (l,n, α) =
∑

{β:1�β�α}

P
{
µn,l(X) = α, θ(0, l) = β

}
=

=
∑

{β:1�β�α}

P
{
θ(0, l) = β

}
P{µβl(X) = α | θ(0, l) = β}. 4�;5

0 "����
 �	��	�� �

P
{
θ(0, l) = β

}
=

∞∏
i=1

(
ni

βi

)(
P̂ (l, E(i), 0)

)ni−βi
(
1 − P̂ (l, E(i), 0)

)βi =

= nβ αβ

β!
Kβδlβe−(a,K)nδl(1+1+o(1))

(
1 + o(1)

)
, 4��5

� �	
��	*�� ��� n ����������!

P
{
µβl(X) = α | θ(0, l) = β

}
=

∑
{α(jk)}

∞∏
k=1

βk∏
j=1

P
{
µjk

E(k),l(X) = α(jk) | E(k) �= 0
} −→

−→
∑

{α(jk)}

∞∏
k=1

βk∏
j=1

p∗α(jk) ��� l → ∞, 4��5

�	 µjk
E(k),l(X) ' ����#��� ��� 	��� #%� ��&�! ��� ����� ��
������ +� µE(k),l(X), � ����"�

���"����# �
∑

{α(jk)} ��������!�# 
� ����� ��%��� α(jk)� ��# #%�

∑∞

k=1

∑βk

j=1α
(jk) =

= α� 9 4�;5�4��5 �������$� +� 
����!��� (�	� �#�" 4�B5 ��� n → ∞, l → ∞ ��*��

������� " ����#��

(1 + o(1))
∑
α∈S

∑
{β:1�β�α}

g(α, β)
r0∑
β

δ(l+logδ n)β ×

× exp
{− (a, K)δl+logδ n(1 + o(1))

}
, 4�75

�	 g(α, β) �	
��	*�� ��� n � l �	��(���� �	��*%� �������� ��%�*� +� ��� n → ∞ �
����"�� 4�B5 %�*��� (�	� �#�" 
 �"�!�#%�� l � 1 ��#�"$ �� �"�#�
0��	�	�� L1 < L2 ��%� +�� �"��

∞∑
L=L2

δβLe−(a,K)δL

��
L2∑

L=−∞
δβLe−(a,K)δL

4�=5

�"�� ����� ,����	�� li + logδ n = Li + xin, i = 1, 2� �	 0 � xin � 1� 9 4�75 �� 4�=5
�������$� +� ��*�� ������� ��%� L1, L2 � n0� +�� 
����� �"�� � ����"�� 4�B5 "



#%? ������� ��	
��
 ����� �����������
 ����� �����

�	*�
 ��� 1 �� l1 � ��� l2 �� �	�%��(	������ �"�� �	�-� ε/2, �	 ε > 0 �����!�� ���	�
E�	�� �#�" 4�B5 
 l1 < l < l2 ��*�� 
������� �����(���� ����
��� 4�75� ��%��!%�
��� n → ∞ ��%� l → ∞� 0�!��� �����%�� " �"��

∑l2−1
l=l1+1 � ����"�� 4�B5 �%��(	��	

(���� l2 − l1 − 1 = L2 − L1 − 1� ���" n0 ��*�� ������� ��%��� +�� ��# ���
 n > n0

�����%� ����%���� �. ��%�* �"�� �	�-	 ε/2� 9����� �������$ ��	��*	��# �	��	���
��%��!%� ε > 0 �����!�	�

9 ���	�	��# �	��	�� �	 ������ (� �"�"�! � ����"�� 4��5 %�	�� �$��� cj ��%�� +�
�"�% �# H(x) > 0� ��#  !��� ���	�	�� ��%" �	�"�

��&� !� J�� 5�02/�//� .�25 !
 �@/.A ��0� 02/@��/�� Θ > 09 D2 ��� 7��02�.
F�@3� n0 73� 5@�� n 4 n � n0 � 5@�� r ∈ S

qn
r > Θ.

���������� ,�
�#% 
� �"�!�#%��� t qn
r = limt→∞ qn

r (t) � qn
r (t)� �� ��� �������!� ���

�	���� +� �	�������! qn
r (t) � Θ > 0 ��%��"$�!�# 
� �"�!�#%�
 �������!� �	��%�
 t ��#

���
 r ∈ S � n 
 n � n0� A%������$���# ��	�	��� �����%���� �	%����� θ(0, t) � ��	�
�	�� +	 ���� �����%���� �	%��� θ′i(t − 1) = (θ′1(t − 1), θ′2(t − 1), . . .)� �	 θ′i(t − 1)
������&&�! (���" ��(��%���
 (������% i��� ���"� ��������� #%�
 �	����*�$ �
(t− 1)��" ��%������� ��	 ����*�$ � t��" ��%������� ,�� n = (n1, n2, . . .)� n1 � r0 + 1�
�	 r0 = maxr∈S r� ��%������$�� �	�������!

qn
r (t) = P

{
ξnt(X) = r

}
� P

{
µnt(X) = r, θ′(t−1) = (r0+1−r), θ(0, t) = rE(1)

}
. 4��5

,���" (�����" 4��5 ��*�� 
������� #% ���"��% P1(n, t)P2(t)� �	 P1(n, t) =
= P

{
θ′(t − 1) = (r0 + 1 − r)E(1), θ(0, t) = rE(1)

}

��	*��! ��� n � t� � P2(t) =

= P
{
µnt(X) = r | θ′(t − 1) = (r0 + 1 − r)E(1), θ(0, t) = rE(1)

}

��	*��! ���!%� ��� t�

9 �
��(	��# �����%���
 �	%����� θ(0, t) �� θ′(t − 1) �������$� +�

P1(n, t) =
n1!

(n1 − r0 − 1)!(r0 + 1 − r)!r
[
P̂ (t − 1, E(1), 0)

]n1−r0−1 ×

× (
1 − P̂ (t − 1, E(1), 0)

)r0+1−r(1 − P̂ (t − 1, E(1), 0)
)r ×

×
∞∏

i=1

[P̂ (1, E(1), 0)ni ]P
{
µ′

r0+1−r t(X) = 0 | r0 + 1 − r �= 0
}
; 4�?5

P2(t) =
∞∏

k=1

rk∏
j=1

P
{
µ

(jk)
E(1)t(X) = E(k) | E(k) �= 0

}
. 4�@5

1"� µ, µ′, µ(jk) ' ����#��� ��� 	��� 	���& �# #%�
 ��
��(�$�!�# ������& �"�% �$&
h(s) = (h1(s), h2(s), . . .)� 0�����&(� ���� t → ∞ ��%� +�� nδt → V > 0 ��� n → ∞�
�����"$�� � ������ (������ �������� 4�?5 ������" %�������"� �����*	�" �� "����
�" ����������!� +� ���.�! " %�� � ����"��� 9 ��������& �����(���� �����-	��#
P
{
µ′

t(X) = k |k �= 0
}→ p∗k� �	��	�� 7 � ��������∑

k∈N∞
0

p∗k
(
P̂ k1(1, E(1), 0)P̂ k2(1, E(2), 0) · · · ) = h∗(h(0))
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�����"$��� +�  # "����� ����������! " ����� � ������&$ h∗(h(0))� 0���
 4�@5 �	

��	*��! ��� n � ��� t → ∞ ������&$ ���"�%"

∏∞
i=1[p

∗
E(i)]

ri � 9����� 
 �	��& �  	�
���"��% ��������� +� � 
��	�-"$ ���	�	��#�

#� )����� *��� '
��	�������� ������ � 	�
�A���� ����� � ���
����������A ��	������A
��������A� �����
�� 	
���
� �� 	
���
� ��
���
����� ��
������ ��	����B  �
� ��� ��
�
$�������� ����� C 7����� #@@;�

%� +��	���,��� -�.� '
��	������
��� 	�������� ��
�����
��� �D
������� �
���������
�DA �������A
� 	
���

�� EE+��
�� ��
� � �� 	
��� C +� ;:� #@@?� C (� :#<�:%%�

:� +��	���,��� -�.� /�������
� 	
���

D� C *�� #@>#�
;� /	���� 0� +��
�� �������A
� 	
���

��� C *�� #@==�

��������� !"#�$��%& �' �#" �������"(

!&�) #�)* �&� "��"� +��#  �%)��!,"

����" ��� "

,-./01-2 ,343567
 �.89- 6,:,;<,=>6?
 70@-A 76<:�=

�$�1 23�145 6�7�51�� 81�$�39�7: 5; <=$�$�

������ <=$�$� 81�$�39:7�79=4� >73�� �

������ !��"#������$�$�%�

FGH IJ�K�L MJINHOO P�QG NIRLQHS TRULQ�QV IW QVMHO µ(t) KHLHJUQHO XJULNG�LK

MJINHOO ξ(t)� �W �L NUOH IW KHQQ�LK QGH �L�Q�UY MJINHOOHO �LQI OIZH LILHZMQV OHQ

S MJINHOO OQIMO� [H ORMMIOH QGUQ QGH \JOQ MJINHOOHO MJHNJ�Q�NUY� RLSHNIZMIOUXYH�

LILMHJ�IS�NUY� 1Q]O MJI^HS QGUQ MJIXUX�Y�QV IW SHKHLHJUQ�IL NIL^HJKOO QI MHJ�IS�NUY

WRLNQ�IL P�QG MHJ�IS #�

?�: !53"9 XJULNG�LK MJINHOOHO� MJIXUX�Y�QV IW SHKHLHJUQ�IL� UOVZMQIQ�N XHGU�

^�IJ�

A����# �����-�� �� �	�%��	��. ����;��;;?

,����#�� �� ��"%" �=��;��;;@


